Vs

Which of the following district has highest sex ratio of Rajasthan according to Census, 2011 ?

(A)  Jaipur (B) Alwar (©) Dungarpur
(D) Bikaner (E)  Question notattempted

2011 i SO & STUR TR F Forer F  forg fot A fammgam wad siferer &2

(@) - IR ®) R © I

e Sardar Sarovar Dam is built over which river ?

(A) Godavari - (B) Krishna © Tapi
(D) Narmada (E)  Question notattempted
TR TR g g & W AT T ??
Ly TRER ® F ©
(/L ® TgERa T
Which of the following formula depicts monosomy ?
Freaferad et & & s w2 |
A 2n-1- ’ ’/CB)/Zn—S | 2n+1
O) 2n+3 (E) = Questionnotatte
; Which area of Rajasthan is a part of ‘ Arid North Western Plain
/ (A)  North Western Bikaner (B) Barmer
! (© Ganganagar (D) Hanumangar
(E) Question notattempted
TS 3 3 & H 9 i |1 ' geh S wiveHt 8’ wqa:mn%?
@A) IR e ST ® SR
© TR (D) EFAFTE
B SEIRAEA
% The largest river in the peninsular regionis : -
(A) Krishna (B) Narmada (© Mahanadi
(D) Godavari (E) Questionnot attep})_tgd '
TG R/ & T el a9l T ® |
@) Fom ® T ey
©) e B HTARA I
/ Which of the following place of Rajasthan is NOT among schedulec? desert areas of India ?
(A) Jhunjhunu (B) Udaipur 5 ' ©  Jodhpur
(D)  Jaisalmer ()  Question notattempted
mmﬁmﬁﬁaﬁ?mwﬁ WIRA % STgfe e e § T 2
() (B) AR, © TR
/65{ ST, E) SEURA T

A va3 2



/ Ama'n.starts a business with Rs. "M’ and 2 months later Chirag joins him with Rs.’M/2’. 1 month later Praveen
also joins them with Rs. “3M". The difference between the profit received by Aman and Chirag at the end of one

year is Rs. 9100. What is the difference between the profit received by Praveen and Chirag ?
(A) Rs. 38,600 Rs. 40,000 (©) Rs. 28,000

(D)  Rs. 28,600 (E)  Question notattempted :
ST AT, M QT FRER W femar iR 2 WA 3 AR Fo 36 W E M/ 2 A e & 7T | O WA o 9,

wato oft %, 3M’ ﬁm%mammﬁwn@aéﬁmmmammaﬁmmﬁa 9100/ - =1 3R 41|
wator W FeRr g WTE e B o ST Tl W |
(A) T 38600 B % 40,000 © T 28,000

(D) . 28,600 )
/ D,
_#  Match List-Twith List-II: , g A
List-I List-II o7 A€
Indian Player Sport Associated With, - N
(@)° Manu Bhaker () Cricket
(b)  Mithali Raj (i) Shooting
(© PVSindhu (i) Boxing
(d MaryKom (iv) Badminton
geii-1 A geit-11 @ gafed Hife -
o -1
It Reergt WA TG
@ ¥ i)  foehe
b Theeh T ji) TR
© "
CY . :
ven below

Choose the most appropriate answer from the optio

<), (0)- @v), (9)= (@), (d) - (i) X
- (iii), (b) - (i), (©) - i), (@) - ()X

@) (a)- (i), (b) - (i), () - () (d) - () (B)
4 (@)- (), (b)- (@), ()~ (iv), () - (i) ©)
(B) Questionnot attempted/ STARA 99

# Choose the most appropriate passive form of the sentence given.
g about the case unless someone gives us more information.

No one can do anythin
us to do something.

(A)  Someone has to give more information for

(B) Todoanything more information is required.

(©)  Unless someone gives us more information we cannot do anything.
Nothing can be done about the case, unless we are given more information.

() Questionnot attempted

/mﬁmwwwvéwﬁ%— ) | '
da-am < ® T3 © S
© Faiw

P.T.O.




1’)./ The Chairperson and member of the Rajasthan Public Service Commission are appointed by the :

(A)  Governor -y
B)  Chairman of Union Public Service Lommnssmn

(©  Chief Minister
(D) President

o Qsh;@ma:m;;ﬁ?p:; o e P 3 o g7 1 T &7
RU2RIS] .
T 2y T 3 A
(C) Ficiil
@ T
B)  ITuid wd -,

i i r germination of seeds ¢ :
X?‘Ch 1;);:\1; f;llowmg is the most esserz;l)al foH%gh iimaohih © Wt
(D) Light (E)  Questionnot attempted |
T8 @ i sigR o e W ey STewad 1 ¢ ?
oy S, @ LsETE © T
@) (B) . STt e

/ Ramgarh Vishdhari Wildlife Sanctuary is 31tuated in which of the following place of Rajasthan ?
(A)" Bundi ®)  Jaipur © Churu
(D) ‘Bharatpur () - Questionnotattempted
TG fauar 5= S aWW%ﬁmﬁF@ﬁﬁ@ﬁawmﬁ@a%?
s ®) © T«
(D) AR F SR |

What will come in place of question mark (?) in the series ?

Frefafad & 9 | ggar=s o8 ( 7)%?@1’—{11?@131@17

44,22,22,33,66,2 - S JE S ,
@ 120 \& L s ' © 9
(D) 100 (E)  Question notattempted/ STARA T :
; " The sum of all the factors of 120 is :
120 3 Gft ToreRT ST AT W -
360 (B 380 © 300

(D) 310 (E) Questlon notattempted/ SR I
/l/ Choose the word nearest in meaning to the underhned word.

He tried to alleviate the suffering of his nelghbours _
(A) remove (B) ;‘agg‘ravate : ,@/ bate
) distribute E Queshon not attempted
“yroitya’ H T - -
s, ® f1 © wHE
O) @ (B) STIARA A

e ya3



197”7 Which of the following is an opaque object ?

- (A)  Kerosene . (B) - Wood : o © G]assv
(D) Water (E)  Question notattempted
firet 8 @ B W T e g X2 '
(Aa) By T oy | © T (F)
®) R B) TR |

/9./ Match List-I with List-I1:
List-1 .

Paris Olympics 2024 Position

in Medals ‘ tally
@ 1% ‘ )
(b) 62and o ) (11) .
© grd : (iid) Paklstan
@ 71 ~ (iv) Japan
-1 1 G-I 9§ gafad Y : ,
e | C gEn
2024 W HSE aht Selt ,
(@ .
® 625
© e
@ 719k

Choose the most appropriate answer from the options

9 feu 7Tu fowedl ¥ 9§ waifies Suged SW g

¢ @)- (i), (b)- (i), (©) - (i), (D)- () (B @)= (b)- (jid), (c) - (iv), (d) - ()
- (@)- (i), (b)- (iv), (©)- (i), (-G B (_a) _11), (b).- (1), () - (i), (d) - (i)

() Question notattempted/ SR 9 -

%‘Subordinate ' ¥ forg wgea it e 2 _ ’ '
@) ewimE (B) ST © W=
oy e () TgaRa e
2z ‘v w5 Hfa S |
M Gl ® - © fr
(D) () TR T
Which institution released the g_xgr_c_mmeml gu_:_x:lgl_lg_e__s_fggtone crushmg units ?
(A) NGT (National Green Tribunal) (B) CPCB (Central Pollution Control Board)
- (D)

(© NAEB , :
()  Question notattempted
Tﬂtﬁl@%%mwﬁ‘@i_ﬂjﬁ%ﬁqw forg ween 7 fean 2

@) T e (@A) s, (e g e )
© qq.q.;f.a’jr.n/ﬁ 664 ©) i EmEm

() SIgaia g

S yo3

P.T.O.




/ Ina Vi“age, two contestants (A and B) are contesting inan election, 70% of the registered voters casttheirvotesin
the election and A wins the election by 600 votes. If A had received 12.5% less votes, A’s votes would have been 5
equal to B's votes. How many registered voters are there in the village ? o o
= . . e :

T i ¥ < v (A 3R B) mwm@%lwwﬁmm@ﬁﬂ 70% RIS LATN A
¥ e @ IR E 1w

R | A, 600 WERH A TS <A T A A H125% o571 e W 213 A 36 7 B % el

fop it N femey itepa T € ? Ty
(A) 7000 ®) 4000 (© 5000
; 6000 Question not attempted/ Wﬂﬂ 9
J/ syt 1 A Pt 3 @ fg Sl A g @2
W ™ st e
) (B). Sigaid 9 -

26. Rusting of iron takes place:

(A) Inpresence of bothairand water - (B) In absence of air and water

(D) Inpresence of water only

Vet AN AR o

(©) Inpresence of air only
(E) Questionnot attempted

o o e 2 ) e A e 4 sy
i oot wan  sufefa } @: Wﬂlﬁ’raﬁ‘ﬂﬁlﬂﬁfﬁ
® o

Raj Administration was adopted.

themodern three tier system of Panchayat
( (C) . Maharashtra

_}9 _ Name the first state in India, in which
(B)~ Uttar Pradesh

(A) Rajasthan

(D) Kerala Question not attemptéd ; f

A) TSREH @ WA | © TERE

@) ¥ SR ST
. Which movie won the best feature film award at the 69th National Film Awards in 2023 ? i

(A) RRR (B) Sarpatta Parambarai :

(O Rocketry:The Nambi Effect (D) Gangubai Kathiawadi

() Question notattempted
T 2023 ms9ﬁﬁ%wﬁrr@a%mﬁaﬁﬁmﬁamﬁaﬁﬁm?

(B) TYUE THNE
D) T i

(A) ¥R IR .
© UH : g TR
€ ATARaTA

29.  Select the related option which would replace the question mark (?).
< deiferd fomed o =9 HY S v Fo(2) % T T T Wehdll € ?
ANIMAL:OBNJMB::GROUND:?. ' | |

4y~ SHVPEO }3{ I{SPVEP }@ 2t

SHPMKL , 4 | 1% ()  Question not attempted / 3TTRA I

l
" YRPRe et
23 {O\/ﬁ% ' [?) W ) OO(H@ ‘vlv‘:i
. y 3

LYo 3 HNPEO




/Fhe Amphibians of the Plant Kingdom'’ are : Vi :
‘ (A) Pteridophytes . (B) Gymnosperms ; ’(C)' Thallophytes

P Bryophytes (E) -Questionnotattempted
IR ST TR (3WEER) § Tl
\ y £l
(&) R ® fresw o © i
(D) SR @ oA ¢
3 Which geographical region of Rajasthan does not share their baundary with Haryana state ?
(A)  South Eastern Plateau region (B) Semi arld reglon
(©  Eastern Plain region (D) Aravali t gio

(E) Questionnotattempted

mﬁﬁmwﬁ?mmmmw%ﬁma mmwﬂﬁm%‘)
Ay o eff e ~=m ST &

DR el A w/}/" NEORE L
(B AFERawA |

In which state did the Supreme Court recently order to halt ﬂlegal mining in the Aravalirange ?

3
(©O Punjab

(A) Ra]asthan (B) Gu]arat
(D) Haryana (E) Question nota pted
Wwﬁaﬁwﬁqqﬁmwaﬁm sjErell ﬁvﬂ'—fﬁwmﬁaﬁﬂﬁ?ﬂaﬁmﬁm7 :
(A TS ‘ (B)/ TSI ‘ © Wﬂ/——-
() =Ramm , ® aﬁaﬁam ,
33. Howmany squarés are there in the following picture ?
F g 7 Forst F fera &0 €2
bl 2|3
1] 2 |9
1 il ';(5".7{6-}—5.{)"1 |
@ 15 @y 17 © 9

\9/‘14 (E)  Questionnotattempted/ SR T
c,%./ Punnamada kayal lake is situated in which state ofIndia?

(B) WestBengal (© Rajasthan

A

(A) Kerala . ‘
(D) Gujarat ()  Question not atte; pted
stﬂam%mmﬁm%7 0

@ F@ _(B) = st O T
© T |  oTguRd WA :

e yo3 7 P.T.O.



Read the passage and answer the Qns. 35 to 39.

of himself in the 17-year-old Chennai boy.

During an interaction with TOI, the Chinese Grand Master (GM) said : "Sometimes I see him as a version of me.

And we do share some similarities in our playing styles and characters.”
Both Ding and Gukesh's journey to the world Championship had surprised the chess wor

ater, when Magnus Carlsen chose to ot defend his world title, Ding got the opportunity to fight for the crown

with Candidates chamw’lgnﬂepomniachtchi. Ding shocked Nepo to become the new champion. Gukesh's routeto ©
ukesh, seeded sixthamong

the top, too, has also been full of surprises. Despite being writtent off in the 2024 Candidates, G
eight players, emerging triumphant on his debut. L.+ a

That apart, Ding and Gukesh are similar personalities

moves do all the talking. "He (Gukesh) is notina hurry while ﬁiiifing, he calmly tries to have ev érything under control. .
\ hassome inspirations for him, so maybe Thavehad some

He's a very mature player ever at 17. Also, he had said my game h
influence," said Ding.

Ding, who was also astounded by Gukesh's Candidates win, feels the Indian prodigy can bea 'difficult playerto |
handle'. "I have beaten Gukesh twice but what sets him apart is he can play many kinds of openings. And he always !

wants to surprise you at the openings. So he's a difficult player to handle."

After becoming the world champion last year, Ding hit a rough patch where he didn't play for almost eight

months due to psychological and physicalwnd, when he did play, he had a series of bad results, which led the
five-time world champion Carlsen to make a remark that Ding is "permanently broken".

"Well, I'm getting repaired," he quipped.

“35. WhenDing Liren says that he “sees shadows of himself” in the seventeen year old C}}gx}nai boy, he means that-

(A)V They like each other (B) Theyshare similarities in their playing styles and characters.

\_/QQ)/ D. Gukesh and Ding Lirenaretwins (D)  The qsemble each other

Question not attempted

€. According to the passage, Ding Liren journeyed to become the new World Champion:
When Ding Liren got the opportunity to fight for.
(B) en Ding Liren fought for theCrown wi Tan
(C© Whenhe qualified for the Candidature defeating GM Sergey Karjakin.
(D) WhenMagnus Carlsen chose to defend his world title.

1. After the Chinese
‘qualified for the Candidates following a banon Russian GM Sergey Karjakin, Ding finished second in the tournament. .

Im, composed and men of a few words, who let their

When the reigning world chess champion Ding Liren and his challenger D Gukesh sit down to battle for the
coveted crown later this yeat, it will be li ke two peas in pod, in more ways than oné. E vén Ding sgid that he sees shadows |

‘Crown with Ian Nepomniachtchi and got defeated.

() Questionnot attempted

/37'/ The Game being discussed here is- |
MChess' ' ®) Ski-ing (©)  Cricket

_/GB( Polo ' (E) Questionnot attempted

38. DingLiren feels the Indian prodigy D.Gukesh can be a “difficult player to handle” because -
(A) he can play many kinds of openings and can surprlse you atthe-epenings.
(B) ,hg;is not in a hurry while playing. L
(O héiscalmand composed and a man of few wor
(D)  helets his move do all the talking, —

(E)  Questionnotattempted

39. Complete t%le sentence with the most appropriate optioti}ftr)am the ones given below :
,: - 1s'a young person.with exceptional qualitiesfiﬁ abilities.
@) Cops , ®)  Psychologist ©_Fegy
(I?) rodigy (E)  Question notattempted
S va3 8
WV




G/ Which of the following is/ are example of corrosion Ye

(®)  Ironrust (b) Black coating on silver

(¢ Green Coahng on copper ! (d) . Galvanisation of iron

i' %

Choose the most appropriate answer from the ophons given below :

(&)  (a), (b)and (c) only ® (s © (aonly
(D) (a)and(b)only (E) ¢ Quiestion notattempted
ﬁﬂﬁwﬁﬁﬁaﬁﬁﬁ@wm/%wm%ﬁ

(@ s aﬁ’r R R T T S

© aﬁmzﬁwwm
ﬁ%mmﬁwﬁﬁﬁpﬁmwmﬁﬁ

A) ¥ (a), (b) AR ()~ . (B) HIE(d) | © ¥@
@) ¥ (@) R (b) ® aﬂﬂﬁaw |
\}1/ The United State of Greater Rajasthan was forma]ly maugurated on 30th March 1949 by
(A) Mahatma Gandhi (B):? Hiralal Shastri
(©)  Sardar Vallabhabhai Patel @) Khan Abdul Gaffar Khan

A) Ta'quTTrT%ﬂ
B AR T

l%’he sum of radius and height of a solid Cylinder is 35 cm and its total surface area is 1540 cm2. What is the volume
of Cylinder ?

(#) 4213 cm® /5( 4123 cm® (©) 4100 cm®
(D) 4312 cm? (E) Question notattempted

@%faﬁa%aﬁ—mwmwsﬁgsf %ﬁﬁmwwammoﬁz%lfaﬁaﬁm
FAME? : -7 ) L :

(A) 4213 9B

| © 4100 G
(D) 4312 9P

/ Which of the following key do you press to check spellmg inMSWord?
mmﬁﬁaﬁaﬁ%%mmﬁﬂﬁrﬁgﬁﬁﬁﬁﬂﬁwwmm%%?

A F9 | \Q)/F7 | © F5-

D) E2 ' (E) _ Question not aﬁempted/aa?rﬁam
i

-

S ya3 9 P.T.0.



/
\/44‘ Match List-I with List-11:

List-1 List-1I
Boli/ dialect Spoken mainly in Region/ Areas
Associated with
(a) Hadoti @) Jodhpur, ]qisalmer
(b)  Brij Bhasha (i)  Sikar, Jhunjunu
© Marwadi (iiiy ~ Bharatpur, Karauli
(d) Shekhawati (iv) ]h?!?wad, Baran
geit-1 71 geit-11 Jyafaa it O
T TNt
SYefl/ STHTHT @‘Wﬁsﬂﬂgﬁ/éﬁﬁa’r&ﬂﬂﬁﬁ%l
®) —~(ii)  E, FFL
© i) SR, FH
(d) iv) EUSEIS] A
Choose the most appropriate answer from mwié{);ons given below
= g T foreredl § 9 gaiferes 3agad 3L : o .
~ @)~ @), (b Gid), (- @), (-0 " @ (i), () - @), © - (), @D~
© 8: 83)/(377(@2)/ (3)1 @), (d)- () }é (@) - (i), (b) - (i), () - (i), (d) - (id)
: 4 7

. Question notattempted /
ﬂatch List-I with List-II: 3
List-I

Country

| (@) Bangladesh @

Nepal (11)
(9 Bhutan (%11)
(d Myanmar (iv) Rupaya
gei-1 31 G- 11 3 ghfed Hife :

_.I .

aw =
@ ’
(®) oeH
©
@
Choose the most appropriate answer
43 fu U fedl © & waifern SO

)
Ay (@)- (i), () - (). (0)- 0), () - (@)

)  Question not attempted/ TR qe
7 Who among the following is the Chairp

(A)  Speaker of the Assembly
(© Governor
()  Question notattempted
TR TG AISH] 91E, T 3TeAe]
o famwnee
© T
(B)  STNE T

A yo3

(a) - (iv), (b) - (i), () - (i), (d) - (iid) ™%

from the options given below :

W AT
o B)  (a)- (iv), (b)- (i), (0) - (i), (d) - ()
D) (a)- (i), (b)- (), () - (iD)- (d)- @)

erson of the Rajasthan State Planning Board ?
.7 (B) ChiefJustice of High Court

: (D)  Chief Minister
B S EEd % e e
D) H@gj._ -

10




. }7”/ The horizontal'distance between two pillars of length 18 metres and 8 metres is “m’ metres. If two angles of
' elevation of their respective top from the bottom of the other are complimentary to each other, then the value of ‘m’

(in metres) is:
18 et T 8 iex wiard ¥ < well % wer AR 5 ‘' ﬁa%_lqﬁmﬁr@:ﬁwa;ﬁ%am;sﬁ@@ |

¥ e g Tt g T A @ o (e ) AR AEE

A 16 ® 18 © 12
®) 14 (E) Questionnotatte gted/ TR T
_/48./ frreifafa ¥ freserrems wem o s 8-
(A) T | By wm © 99
® = . (B)  ARa T o

49. Inwhich games category of Paris Paralympics 2024 Mona Agarwal won bronze medal ?
(A) R8Women10m AirRifleProneSH1 (B) R2Women 10m Air Rifle SH1
(© R2Women10m Air Pistol SH1 (D) R3Women 10m Air Pistol SH1
® Question not attempted ‘

A Forohei 2024 ¥ For et w3 Hi sree 3 e T a2
(A) RS RGN 10m TR USHA T SH1  (B)  R2 Wfeel 10m TR WHA SHI
© R2 Wi 10m TR fRes SH1 @ R3 Wr%?'ﬂl(ﬁn wR fred SH1

B AT A

50. Carbonis: : "
(A) Trivalent (B) Tetravalent (© Monovalent
(D) Divalent ()  Questionnotattempted |
INEREE:RINED (B) =g: TASE O THTNE
O T weiem B SEEEET

51. Selectthe improvéd variety of maize:
(A) Kalyan Sona (B) Sonara © Ratan
(D) Jaya , (E) Questionnot atteinpted
T FY I ToheH i 8?2

o e ® W © T
(D) <& ® IERA A
52, Which Article of the Indian Constitution provides fora Govei*ngr in each State ?

(A) Article157 - (B) Article159 (© Article153
(D) Article155 (B  Questionnot a{:{ex&f)ted
e wfeer & o aﬁﬁmﬁwﬁmﬁﬁgﬁaww%?
(&) TR B STEI © WTBR153
O  FBIE /) TR A »

Seyoz | | 1 P.T.0.



Consider the following data:

\ X o 1 20 | 80 | 40 | 50
\ lrtquumy ¢ | 30 | 50 | 90 - L 20‘_
Frefafaa st ™ o fore Y .4
X o 1 20 | 30 | 40( 1350 "
araEa () | 304 80,ap 90 R0 1
T 7 3°

ncy ?
The mean of the above distribution is 29.6. Thén  what is th: missing frequency ¢
< FeyeRon S e 29.6 ®, T W (fufdm) artaﬂrarw%

50
(A) 65 LBy 707 ©

(B Questlbn not attempted /SR I

\/s/wﬁamww TR 1 3 ¥~

|

|

| ' .

i (B FE ® FER R N>l A

} . . . 5 ' SRl Commise
. . s ; ;

| /55/ Select the most appropriate statement for the appointment ofa Chax;person of the State Human Rig issic

He/She has beena:
(A) Social worker
(B) Speaker of the Legxslatlve Assembly

© District Judge
D) Chief Justiceora Judge of High Court
E) Question not attempted
T HFATURR 31@11 & AAG H fom ga@;
RPSC
(A) S Yad
@®) foum qe S A
© e =R
Dy ¥ A % e S S =

1Wﬁﬂﬁqﬁlﬁé’?@/@'@:

() AT T
/ﬁﬂﬁf@aﬁﬁﬁ@quﬁ%? ,
o) faIfa (B  oEErE

L

% Arrange the following chief secretary of Ra]asthan in the order of their appointment old to recent.
(a) ShriRajeev Swarup 5)._: Smt. Usha Sharma
() ShriOm Prakash Meena Smt. Kushal Singh

Wﬂ%g@maﬁmﬁgﬁﬁﬁwgﬁﬁﬁéﬁmﬂm|
(@) 4 TSiiE T (b) WW‘JWT@
0 4 SRy e @) ot v i)

Choose the most appropriate answer from the, optlons given below :

= g T foeredi # 9 watfues SoRgeR SO T |
@ @@, 00 B 0@ © ©
D) (0, (d), (), (b) . (E)  Questionnot attempted/ 31':131&3 g3

12

(b), (¢), (d), (2)

3 vo3



58,7 Choose the most appropriate option to fill in the blank :
He abdicated the throne his eldest son.
(A) _ bywayof _(®) infavourof » (@)
in lieu of : " (B) Questionnot attempted

against

[y

/59/ According to Motilal Menaria the Poetic text where the descrlptlon of the greatness of the king, his Conquests,
wars and valour is found is called § )
- «(©  Rupak

(A) Vigat (B) Raso
D) Veli (BE) Question n attempted ‘
tﬁ?ﬁwﬁwﬁmtwﬁmmﬁmﬁgﬁ@wﬁm mﬁm g@aﬂiaﬁwaﬂaﬁqﬁrm%
HEAI § :
&y o ® @ (© T
el () Tafa v |
60" Which of the following organization is on the highest level in order of Panchayati Raj system in Rajasthan ?
(A) Panchayat Samiti (B) Gram Panchayat (©)  Kendriya Panchayat
(D) Zila Parishad . () Questionnotattempted
sqmm?ﬁﬁ?mwwwwmﬁwméﬁmﬁwﬁﬁwmﬁ _
@A) GEEa a ®) T ' oy SRR
@ foemEe (B) STgARd I

Brown and Red colours. After that it is cut into

/61/ All the opposite faces of a big cube are coloured with’ Green,
64 small equal cubes. How many small cubes are there whose only one face is coloured ?

TS T (FA) F 9 I F R AR, %ﬁaﬂtmvﬁﬁrﬁmﬁmw%nmmsﬁ 64 B TR T
S

(az;-ﬂ)ﬁﬁmﬁaﬁmw%xﬁew@ﬁ%m(a{a)@ﬁm@mapﬁqgv \
(Aa) 26 ) 20—

24

Choose the most appropnate word to complete the given. sentence :
When are you bringing the next issue of your journal ?

l
|
! (A) B out - @  off
L
|
|
|

\/CD)/ of (E)  Question notattempted

\93/ What is the shortcut key for the central alignment of a line or text in MS office software ?

mmﬁamﬁmﬁﬁﬁﬁmm%mﬁwm%mmgﬁﬁwgv

@A) ‘cul+x B Chrl+Alt+S © Cul+Ww
(D) Ctrl+E (E) Questlon not attempted /ST 991
\9/& was Monday on Jan. 1, 2024. What will be the day of the week onJan.1,2029?

(A) Monday | " (B) ; (©  Sunday
(D) Tuesday - (E)  Question notattempted
1 SFerd), 2024 1 WER 711 SFE, 2029@%%@3@&?@7

N7 @hw y '

© faer
P.1.0:



65(’ B,P,QR,STV and W are sitting around a circle facing the centre, not necg:sarxly in the same order. Sis 2nd o :
¥ the left of P and Sis 4 to the right of Q. T is second to the right of R andRis3 1tofthe right of P. Bis 3" tg the ng}“
of V and V is not an immediate neighbour of P. Thenwho is to the immediate leftof B?

:{a?@ﬁa”—qﬁﬁll’%mﬁm@
BPQ,RSTV@W%N?IH,@W@W%«%%W W“
saa%a?ﬂQ%ﬂéwmiﬁﬁvmms%}a%m%ﬁmémwmmréa%aikpa:

|v$<r§mzhﬂimmmBm%mp%wﬁvaﬁ%st%ﬁ}#&mwﬁﬁq%%a‘
(A) T ®B) ; :

®) S (B) Queshcm not attempted / ST FFT

Which of the following is a physical change ? o _ ‘ ; :

(A) Melting of wax ®) Photosynthesis v (O Rustingof iron

(D) Respiration () Questionnot attempted

 freferfiEd 8 @ W O e R E? ‘
v e (B) R AT © ﬁg:{—\,-mm

©O) T o B) SIERATA , ® N

Which company got the status of Miniratna category:=1i : <

(A) Power Finance Corporation B

(©  Grid Controller of India Limited D

(E) Question notattempted
o, 2024 # frg wEE RS Foi-1 ﬁq@ﬁﬂﬂ?ﬁ? _
(A) U R ST '

® ajﬂiiﬁ =R

What is the “RAM” stands for : . .

(A) Random Anonymous Memory (B) Read Anonymous Memory

(©  Read Access Memory (D) = Random Access Memory

() Questionnotattempted

“RAM &1 ol T & ?

(a) eH STIfEE BE ® e e aEd
;g( {re TR A |

E ajaiia R

¢/69/ The three medians PA, QB, RC of trlangle_ _QR intersect at point G. If the area of triangle PQR i
90 sq. cm. Then the area of the quadrilateral AGCQis: :

(A) 25cm? B) 40 cm2
(D) 30cm? B) Question not attempted ; :
31951 PQR éﬁﬁ'-mrﬁsqmqm QB, Rcﬁgc;qtaﬂz%%mﬁﬁga PQR &A% 90 cm? z‘r?ha@%jsmAGC(

I AAHA © - : | )
\(K)/ZSW /}@/ ®) 10 32

(© 20cm?

© 20 4HR
30 942 € R wA B '
\/%ﬁﬁﬁ’wg’naﬂwaﬁﬁmﬁfﬁ@mﬁé@m—
(A)  FER-TE By T ge-wi g2 ©  a-fi
@) - )  TaRa '

ze V23 14 JE.



\2141\10 context of Indian Constitution which of the following is not a fundamental duty ?
(A)  Torespect the National Anthem
(B)  Torespect the elders
(© Toprotectand i improve the natural environment
(D)  Tosafeguard public property
(E)  Question not attempted o4

Wmm*mﬁwmﬁmmmmﬁ%;
LA T A FEA LS

_(B)— WS W GHA FE_—
© T Tt Y TaT SR gUR s
D) ma‘srﬁa;mﬁgwm/

LR G

B  3TIaRa e
J/In 24 days A cando 75% of ajob. Bcan do 7 of thejobin 24 days. In how many days can they do — of thejob while
working together ? ‘ o : :
(A) 8days _ (B) 10 days k - \_/(C)) 5 days
(D) 6days (B)  Questionnotattempted '
A 24 T F 75% S % T 2 Bwi'qﬂ i wmz4ﬁ=ﬁﬁ1naﬂm%lﬁﬁamwm# vrmair
forem &A1 & 90 X Teha € sand | -
@) st » © 5T
) 6Tl : ' S, | e
Who was the founder of the Chauhar.c dynasty of Ranthambhor [ } | i
(A) Durlabh Raj : ;_@) Vijay Raj (© - Govind Raj
(D) Vigrah Raj ' ¢ (B) Questionnotattempted
Turefix % e S Bl HEUTT i a2 _ -
(a) FAITL @), T | © TR T
% Ifa=b™ b=c"and c = aX then the value of m, n, kis equal to :
g a=pm, b=cn 3R c=ak &, d m, n, k FTAF S
2 . B 3 © o
1 (E) Question not attempted / TR T

(D)
Which is the main organization for th Development of Infrastructure in Industrial Areas in Rajasthan ?

(B) District Industries Centre
(D) RICO

(A) RAJSICO

(E)  Questionnotattempted

mewﬁwwwwﬁmﬁgm%’

A&y Tt (RAJSICO)
© e faa frm @) = (RICO)
B)  TIARa T
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JK Which of the following is an esterification reaction ?
fPrafataa § § o o v weiEm fFn e ?
(A)  CH,COOH +NaOH ~» CH,COONa +H;0

(8)F CH,COOH +CH,CH0H HF, CH,C00CHs +H,0__

Bt NaOH
(D) CH,COOH +NaHCO; - CH,COONa+ H0+CO,
{B): Questionnot attempted/ SR 9

ctronic brain of the Computer ?°
Control Unit

77 Which of the following is the ele
{A) CPU (Central Processing Unit) (B)
(© ALU (Arithmetic Logic Unit) (D) Memory
(E) Questionnotattempted ' .

Frefefan & & F W FER B AR A © 2

Ly & g (e afE gR) ® Foa A

© TTw g (ereffes wifh 7fTe) @ AR

(©  Jaisalmer

Bhilwara
(E) Questionnot attempted
Fel W e g2 : A
_ (B) TIaRa 5
\/79/%0 propounded the theory of the origin of Rajpu{s from the Nagara Brahmanas?
(A) VincentSmith - (B) . - Gauri Shankar (© JamesTod
(D) Dr D.R. Bhandarkar (E)  Question notattempted
AR SRV & TSgH! skl Seafx i fagid fohe wffad fema ?
(o) TEHefEmg By TIRT TR © S dE
(D) . L3 YSRH (E) STgxid 9
\/80./ Identify the most appropriate sentence from the following options :
: He had been living in London for two years when I visited him.
 : He had lived in London for two years when I visited him.
(©): Helived in London for two years when I visited him,
- He was living in London for two years when I visited him.
Question not attempted ‘
g/ You }.1av§3 not be'en deceived. (B)  You are being deceived by him.
_ L{ Hedid ngtc_’ie.celve you. /(B)/ He has not deceive you.
Question not attempted '

_@%%vzs_ 6
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y/ When was the ‘Objective Resolution’ presented by Pt. Jawahar Lal Nehru acc.epted by the Constituent

’ Assembly ?
(A) 26 January, 1947 (B) 22 January, 1947 - (©  29November, 1949
(D) 9 December, 1946 (E)  Question notattempted
T TG YE BRI W ' Shvd Wi’ o G [ g o TR R e 2
@A) 26 S, 1947 B 22 S o4 (© 29 TR, 1949
® 9 Rw=r, 1946 ® oHERATEH=
'){ Choose the most appropriate Hindi word for the given
DEFERRED
“(a) o . B) ©  uftnfr
(D) AU T B Question%‘rﬁt*ﬁttempted

/ The total number of 3 different colored pens in a box is 102. If the ratio between red colored and black colored pen

is 5: 3 and the number of black pens is 33% % of green pens, then find the difference between the red colored and-

black colored pens ?

@Wﬁ?ﬁqﬁfwﬁﬁ%wﬁfaﬁwmwz%laﬁmwaﬁszwﬁwﬁmmsﬁaﬁﬂEm?f

1% FEH HFOT R 1 35 Forw H HE F 335 96 21 7w €1 35 e AR A €1 35 o 5 g she

TR ?

(A4) 14 . (® © 10

O 12 &
%Wamuahm%ﬁ%_@ﬁ%mwaﬁl ,

@ T'-um ®) T - G TN -

(D) O - TR ®) |

}6./ How many slide layouts of office theme are available in new slide dialog box ?
T4 T WAR (dialog) A H STHE o % e RIS TeTSe U 2
' ® 17 © 7

@ 9
) 14 (E)  Question notattempted /TR 9%
- Select the incorrectly matched pair of plant and its economically important part :
(A)  Rauwolfia serpentina - Root - (B Tegmingliu arjuna - Flower
(©  Curcumalonga-Stem (D)  Alliuntsativum - Stem
(B)  Question notattempted ope==
Frerfafea # & e e ford el aen e wwsifim s 9 F weery 5ot T BB
@A) v gt - 1S (B)  2PARTT STGT -FA
© g e - () i
AR 991
[ ‘Pl o ferei WK -
@ d | ®)
: @) T (B)  STTIRA T
g yog | < 7 P.T.0.



: 4 the suny,
)q/ The sunlight passes through spherical water droplets of rain. An observer with his back to the

91.

/ ‘Pichhvai Painting’ is associated with which school of Art ats

seen a:

rainbow in front of him.
This Sun phenomenon is due to the::
(A)  effect of reflection of light only o
(B) combined effect of dispersion, refraction and reﬂechon of light
(© effectof dispersion of light only
(D) effect of refraction of light only
(E) Questionnot attempted

x@mmaﬂ’iaﬁmﬂmﬁﬁrv@ﬁ@fﬁm
TR S X ¥ | T FRE
(A) TR TR B AT

WY & qU, awaﬁ'—ramqtraﬁﬂmﬁmﬁwgw
© werTel 3 TRENTl T T
D) T STYSA 1 G

(E)ajﬁﬁﬁsl‘ﬁ

W%l@ﬁwqﬁaﬁ mmﬁ@a%lﬁsmw

¥ _)0/ Choose the word opposite in meaning to -

ESNTZ{‘S‘ES‘? ' AB) (©) unapologetic
,(D{ hurtful o ®)

e TR SR -9 1 W e 8- |
&y T TR G - (B amﬁ@zrﬁx © dfs =R EH
O T EE B SINCAHR

(A) Kishangarh ®B) Nathdwara (© Bundi
(D) Kota (E) Question not attempted

raré fen’ for wen faemed @ Heftd ©2

&) T - @y A © xR
O B TIRT A

~/93./’Which of the following is correct ?

Sev23

(A)  All the colours in VIBGYOR travel with the same_;speed in vacuum.
(B) Nonein VIBGYOR travels in vacuum. '
(O Redlight travels fastest (among VIBGYOR) in vacu

(D) Violetlight travels fastest (among VIBGYOR) in vacuum
(B) Questionnotattempted

frafafea § am AR €2 -y
MﬁahﬁWBGYORﬁﬁasﬁm%mwwéwﬁm%l
® Frafa ¥ VIBGYOR & @ ¥ ot 31 w1 wawret T el =t %1

© fEfkd VIBGYOR # & wat 111 o1 Wehter Serdl 4t T han ¥
D) ﬁﬁﬁﬁﬂBGYORﬁﬁﬁﬁ?ﬂmmﬂﬁﬂﬁ.m%l
B TR T
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Aman walks 3 km to East, then turns North-West and walks 4 km. Then he turns South and walKs
6 km. Then again he turns West and walks 3 km. Finally he turns North and walks 7 km. In which direction, ishe

(©  North-West

from the starting point ?

(A)  South (B) West
North (©) qustmn notattempted

®)
3 T Bt IR 3 el e & e g SRR 9 ST oA 4 FR wer €1 R o < o St e
6 fodt womar @1 fFx o® 4 wfivem feen wToeiR 3 fdt worr 21 @ ¥ 98 IW BT AR qIHT
X

7ﬁﬁaﬂmétmﬁagmmﬁwﬁg@mfamﬁmﬁ%7
@) _<hm ) © W &z,
\/CD)/ W : ) °
\/95/ Tthe simple interest on a certain sum of money for 2 years is Rs. 300 and the compound interest on the same sum
atsame rate for 2 years is Rs. 315. The rate of interest per annum is :

ﬁﬁ@ﬂﬁmzaﬁ%mmmmﬁ300%@'{@@%3@%@%@%@%?’ -

T3S BB T A R

A)  20% ®) 25% e 10% 3
D) 15% | (E)  Question notattempted /3T ARA T k

Which of the following is an optical storage device 2_. |

() Punch Card y-Di . (© HarddisP

©) Tape
(A) LEl ?ﬂ:s‘ : (B) O e
| ®) :
/ In AIDS________ isprimarily affected. £

Nervous System (B) Digestive System , (©)  Circulatory System ‘
(D) Immune System (E)  Questionnot attempted
AIDS 9, A& &9 9 FIfad it & | '
NI ECOKE| (B) EATA © UREERTET .
(D) Yl dx (E) SIJaRaH

JG/ Which of the following is not a function of the control unit ?

(A) DirectOperation —
(B)  Guides data flow through the computer membry
(O Controls Sequential Instruction Execution £ =
(D) Interprets Instrucﬁon
(E)  Question notattempted
Frerfafea & & i, freEe s W Wf@
A) :crmiaz sﬂrqim
®) msqa SC rk—vﬁ g T FIX fnﬂfr/
(C) el aﬁaé-«vfrqa e TRITRRRT

szrﬁmswam _ |
(E) ST T

P.T.0.
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99/ Who has been appointed as the 261 Chief of the Indian Navy in April-2024 ?

(A)  Dinesh Kumar Tripathi (B)  V.R.Chaudhari (© R.HariKumar

(D)  ManojPandey (E)  Question notattempted ’

ardre, 2024 H wiceda X 0 1 2681w () fGR g T” .

() TEw e B /@,__aﬁe;nt ey © emRFAR 1 |
D). HAS ey (E) mﬁaw _ : o

y/Choose the most appropriate word to complete the given sentence s
The compﬂahon of titles of books or articles’ that have’been used by a person for writing an article is termed }03/
- as _ 3 :

..(9‘)/ Blbhogr aphy : . ®) (© Biography

(D) Blasphemy (E) Questlon not attempted

__101. Which of the following groups consist of only Input devices ?
(&) - Mouse, Keyboard, Plotter ®B)
(© Mouse, Keyboard, Monitor D)

(E)  Questionnotattempted '

Wﬂﬁ%ﬁ—mwmﬂ@gﬁwam%v

Mouse, Keyboard, Scanner RI/OQ
Mouse, Keyboard, Printer

@) T, T, @ A R, e, W
© 11/13‘8/ 'eﬁéﬁé, HHIR D) }?&i e, fieX
ST T L o
/!02./1? a typical nucleus some regions of chromat.ir}z,afé loosely packed and stain light, this region is known as
(A)  Nucleosome B) tone octamer (©  Heterochromatin |
®) " Euchromatin (B uestion not attempted E
@mmﬁaﬁﬁmtwﬁa(ﬁﬁw)wﬁw%ﬁm@mﬁrﬁﬁ%ﬁ%l!16?35( ™
EiEfsichy e L3
@ AfeEEE (B)f%wm?lazmt ol ool
@) wgEE @ ey

Which of the followmg fundamental duty isadded by the 86" Constitution Amendment Act in Article 51A of the
Indian Constitution for a parent or a guardian ?

(A) Toprovide opportunities for education to his ward or child between the age of six and fourteen years |
(B) Safeguard public property and to abjure violence.
(©  Todefend the country and render national service when called upon to do so , 1
(D)  Touphold and protect the sovereignty, umty and integrity of Indja. |-
~ (B) Question notattempted ‘
869 Hamfe danem stfufm g WWW%&W&QﬁﬁmﬁF@aﬁﬁﬁmmWwa
regen e o forg St T g ? |

) aﬁaﬂammwﬁmaﬁﬁm%ﬁaﬁfmmﬁwmmiy

®) aﬁaﬁmwﬁraﬁgmmﬁr{méglﬁm

(© 1 T FA, SRR TG T L el T AN

o7 Wﬁww,waﬂtwﬁwmaﬁmmm\
® | sy
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(/ Who among the following has written the book “Cricket My Style” ?

o A
*% (A)  Kapil Dev (B)  Saurabh Ganguly (©  RaviShastri
(D) Saclun Tendulkar "~ (BE)  Question not attempted :
Hfrees ® © e

}gﬁqﬁaf@aﬁmﬁﬁaam%—
(A) I I Fafash of)
© I HeR-TeR 37 Ty

y./Match List-I with List-II :
< List-I : List-IT
Lake Located /Close to

(@ Jaisamand lake (@) Nagaur
(b) Sambhar lake (i) Barmer
(© Didwana lake (i) Udaipur
(d) Pachpadralake (iv) Jaipur .

- gEi-1 1 Geil-11 @gﬁﬁmﬁﬁn{
T -1
Teera /o6 free
@ TR .
B SRR
© 3R
() S

Choose the most appropr‘iate answer from the options given below :
A fow T foeredt # & waifier Suged s 9h -
A (@)- i), (b)- (v), () - (1), (d) - (i) ®) " (@)-@), (b)- (), ()~ (i), (d)- (i)
JQ/ @)~ (iv), (b)- (3, () - (@), (d) - (iid) D) (@- (i), b)- (iv), () - (i), (d) - (i)
: (E) Questlonnotattempted/ SATARA TH : ey
E (A) T | ® " =

15

0 2 .. ® Questionnotatiempted FE 57
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1 N
i By S TR T i
15t chromosome in humans ?

B Patau Syndrome

o
}l ). Which disease is caused due to trisomy of 2
7 [
~ Phenylketonuria

(A) DownSyndrome
(© Kilinefelter'sSyndrome D)

(F)  Question notattempted

ﬁmﬁnzﬁwﬁﬁw%m@m%

() s fag ®) . wes fas
Mg wemhe fam D
() STIARa WA
}4./ Choose the word most similar in meaning to -
ZEAL
reluctant (B) liberal ‘ (© ~apathy
. (D) fervour (E)  Questionnot attempted
. Thearea of asquareis 9x2 + 24x +16. Find the measure of the side of the square.
ek I T S 9x2 +24x+16 3| i % et I HO SARE L
(A) B3x+4 (B) 3x+5 : © 3x+1
3x+2 () Questionnot attempted/ SR T

115" Match List-Iwith List-IL
' List-II (Place)

List-I (Fair)

(@) KarniMata (@  Kolayat
() ShriMahavir]i (i) ~Diggi
(0 Kapil Muni (iii) = Deshnok
(d Kalyanji (iv) Karauli
W—Iﬁqﬁr—nﬁgﬁﬁaﬂﬁml
Fe-1(Fem) FE-II(R) <
(@) O G  wEEd
) o e Sft i - feoit
(© v iii) XA

d (v) e
Choose the most appropriate answer from the options given below :
3 fw T famedi O @ waifies Suged SW T :

) (@)-(i), (0)- (V) ©-O @6 B @-O0)- G ©)- @) @)
©  (@)-(ii), (b)- (i), (o) - (i), (d) - (iv) D) = (a)-(iv), (b)- (i), () - (), (d) - (iii)
(E)  Question notattempted/ SR weA ===

114. Which of the following is an example of an impac
(A) Laser printer
(©) Dot matrix printer
(B)  Question notattempted

Frreferfan # & 1 geiee fie <, 3ae 2
v w0
© oHaRaTE

S va3 ' 55




A shopkeeper marked a product, 60% above the cost price and sold the product for Rs 32

successive discounts of 10% each. Find the cost price of the product.
B)  Rs. 30,000

(F) Questionnotattempted

(A) Rs. 25,000

»400 after giving Boas

© Rs 20,000‘

D) Rs. 23,000
T GHIRR 3 T IR T AT e 60% Ao E@Wm%mmmlo%ﬁmaﬁmmm

% %. 32,400 H Ty fopan mmmwmwaﬁu

(A) ¥ 25,000 v(g)/ %. 30,000 © % 20,000
) ¥ 23,000 € SHuRa T
y/ Match List-I with List-II : -
List-I List-IT
(Type of Coal) . (Carbon %)
(@) Peat @) 94-98
(b) Lignite G 27
(©  Anthracite (iii) 78-86
(d) Bituminous (iv) 28-30
W‘I Eﬁ?ﬁﬁ-ll ﬁ%ﬁﬁm :
G-I
( =TeT Rt UfeeTd )
- (a) 94 -98 '
(b) .27
© 78-86
@ fogfma (v) 28-30
Choose the most appropriate answer from the options given bel
% feu T faeredl § & waifiren Suge SW 9 :

@)  (a)- (i), (b)- (iv), () - (), (d) - (i)
© (@-@, b)- (i), (c) - (iii), (d) - @v)

;g/(a) (iv), (b= (1), (c) - (i), (d) - (i)
(a) - (i), (b)= (i), (€) - (@), () - (iv)

(E) Question notattempted /STITRT ¥

%dea Devi Biosphere reserve is situated in which state ?

(A) Sikkim
(D) Uttarakhand

méﬁ‘ra@zﬂfﬁmﬁaémmﬁﬁ%%?

Mfﬂﬁw

(B) Assam (©  WestBengal

(B) Questionnotattempted

(B) M © uf¥em s

(B)  STIaRd I

' Mﬂch fundamental right cannot be suspended even during an emergency ?
(B) Rightto freedom of Religion

(A)

|

(B Questionnotattempted

(&) aaﬁ%ﬂrsﬁ'cmaafm

Right to freedom to reside anywhere
(© Rightto Life and Personal Liberty

(D) Rightto assembhng peacefully

ST & S ﬁﬁmWWWWW%7

®) v i e SR

Wvﬁmaﬁtwﬁwmaaamwafw D) W@ﬁaﬁﬁmﬁwx

® i@y
%Vza
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M9 Cl ‘
: 0ose ¢
: 05 the most appropriate option to fill in the blank :

W
ould you Jike to hear

re

story abput ot A

Englishman, ———————

Irishman and

Scotsman? T s
(A) X, an, the, the (B) a, the, tl}e, the (C) e, an, atl, :
: \,OD)/ a,an, an, a ‘ (E) Questioéi,“ryiqf attempted
201 \(/\Z\l)uch Aof ;he fillowmg is India’s first interplanetary MUESs © Chandrayaan- )
strosa
(D) Mangalyaan
ferffaa § ¥ WA 1 HIT AT : )
(&) TERE (Astrosat) @ -
) HIEEE
i - ively, are: '
1 The catalystand promoter used in the Haber process; respectively,
(A) MnOjandFe ® NOandMo (© MoandFe
(@) Feand Mo ® Question not attempted
%atﬁmﬁsqﬂfﬁaawaﬁtmm:%: i il 34 i ”
(A) MnO, 3 Fe : ® NO 3R Mo : /(g/ Mo 3R Fe
@) Fe3RMo ) ITard 5
1227 “The Valley of Flowers’ is situated in which region of
(A) The Arunachal Himalayas ==
(B) The Eastern Hills and Mountains of Himalayas_
(©) TheDarjiling and Sikkim Himalayas
D) Uttarakhand Himalayas :
(E) Questionnot attempted
‘geit w1 S TR 6 TR £ feerd €72
(A) T ferred
® e w1 et vefedt Sk SETH
Tifife iR fafeena fedred
O) swWEs e
€ AIARaTA '
/Z{ Choose the most appropriate option to fill in the blank : =
IZe got friends so I'm not lonely, but i of them never visit me.
(A) some, fewer (B) none,s 6’1__11 - © none sy
K/1,2/ maany. few (E) <Questio: ﬁpj attempted
; 4. The metal .which is not found in the free state is :
(A) Platinum ®) Iron S i
(D) Silver g &
(E) Questionn
St 7t spereen H 1 e Sl o : | i
D) i ® /eaaﬁﬁa | | © g
) T

Sevos
' | 24



a0 "i:&:“/l‘)enalured alcohol is : - PR ; ’
W (A for

ormed by addition of cone. sulphuric acid to alcohol.
(B)  usedforthed rinking purpose.

©  themixingofa dye and methanol to ethanol for the purpose of industrial use.
(D)  formed when alcohol reacts with oxygen.
(E)  Questionnot attempted

ﬁiﬁmw%? |
@ %WW%Wmmmwmﬂmm%.
(B) TR ST I 3 fore fopn e
© aﬂ@ﬁmmﬁn%sﬁma@qﬂﬁm(
/ﬂﬁfﬂﬁﬂaw%mmwmmas
B SgERATE

126,”Choose the most appropriate option to fill in the blank :
. The salutation in an official letter should be

3R Deriter freman <wn 3
St s )

A}

_/(A)/Before the date (B)  Before the subscription (C) After the signature
(D)  Afterthe subject A (E) ~ Questionnot attempted
/1,2/ Match List-I with List-II

List-I List-IT = :
Name of Element Major Functl?_t}_ n human body
(@  Sodium () Componentof- Hemoglobm
(b) Calcium (i) ~ Maintaining } Bﬁlance
(© Iron (iii))  Makes bones: and Iteeth strong
(d) Iodine (iv)  Formation of: thyroxme
qsﬁ-l I GEi-11 @gﬁﬁaﬁﬁq :
ei-1 11
e &l - WS IRR & e &l
(@ it (@) B e

(3mEFE) (ii1)
d 37@3’1? . (1v)

® m e T T e
© < i) @awﬂa‘fﬁfﬁf .

L i R feehedl # ) waifuer SugE I 3
@ @- (i), (0)- ), () - (), (@) - (i) [
©  (@-(i), (b) -{iv), (©)- (@), (d) - (i)

@ -6 ) @), ) - i), @ - (v)
(@) (i) (b)- (i), () - 0, (@)~ i)

i

(E)  Question notattempted/ aaaﬁa T

% va3 25 - PT.0.



41"}8"/ Selec t the

(@)

most appropriate statement about blood platelets (Thrombocytes)

They have no nuclei.

“‘ey are very small fragments of cells. ‘
© They contain red coloured pigment called hemoglobin.
() They participate in clotting of blood.

© They produce antibodies to fightiantigens.

31 i iven below :
m the(gfho?;)%l(c), (d)and (e) only
(D) (a), (b) and (d) only

Choose the most appropriate answer .f
4)  (b),(c)and(d) only !
© (a) (b)and (c) only |
(E)  Questionnot attempte ; N
o fefm (ST % AR & -afaren STgER o A P

(a) “ﬁﬁﬁ@_’l‘ﬁ@ﬁl%' (i3

®) éaﬁﬁlﬂaﬁﬁsa@ﬁ%ﬁ%f/
© ﬁﬂmwwm@m%ﬁlﬁgﬁwﬁﬁﬂm%y
3 < 3 o T H A S
© éuﬁaﬁ(@m)ﬁa@%muﬁmﬁ;ﬁm%l
g et § @ watfee SugeR S g ¢ |
jjﬁ;; (b), () 3 (d) —@ Fad (b), () (d) 3R (e)

© FE (@, (0) FRE) A @) 3R (d)
| IHTRATE { -
© g

(a) ST Rl ST (i) i
©) A S i) (R
(@ THH I iij)  SISUT
(@ el s HA (v) Y&
ﬁmmﬁmﬁﬁmww 1 997 T |
@) (@), B)iD, ©-@) (@) . . B @06 (b)-(ii), (c)-(iv), (d)-(iii)

B (@)-(i), (b)-(ii), (©)-(i), (d)-(iv)

© (@), O, (-6v) -6
(B) IrFaRad T

Qand Raresiblings. P has two 'chjldréh and he is son of E and E is father-in-law of H. H has only one son. Risr

// granddaughter of E. Then how is Q relatgd toE?
(A) Son £.(B): Niece (©  Daughter
(D) Grand Daughter {(E) Questionnotattempted

ﬂﬁ%lﬁ_éaﬂ/Eﬁwuﬁa%?_
X\ B) Rt © T
E) SIgARa A

/\ X 26




1327 Shimlais cooler than only Manali. Nainital is colder than Ooty butnotas cold as Mussoorie. Mount Abu is colder
. than Shimla but not the coldest. Which among the following is the most coldest ?

(A) Mount Abu (B)  Shimla
(D)  Mussoorie (E) Queshon notattempted

(©) ' Nainital

(A) TEIE B T © i
©) =g ® omuRa |
133" In which month is the festival of Kajali Teej celebii:;té_s in Bundi?

(A) Bhadrapad (B) Phalgun (©  Chaitra
(D) Shravana (E)  Questionnotattempted ° |
St § Fotell A 1 Ater fha are § wern s R ? DR

iy TET | ® wE o W
@) e ®) RRa |
‘Rt H g TerE R <

L = ®
o = ®

135 Himalayan Yew tree (Taxus wallichiana) is found
(A) Sikkim and Uttarakhand
(B) Himachal Pradesh and Arunachal Pradesh =
(©  Sikkim and Himachal Pradesh 5
(D) Himachal Pradesh and Kashmir
(B) Questionnotattempted

femrerdt 9 ga1 (2o aiferferarn) TRa % fom Tt & v sten 2 2
@) fafsn i SaEs |
B) Teurae u3w IR STeuTEe USW
© fafsrn v fearea Wy
_Dy TeAr 9o iR ek

(B) ergafa g

o

. Which salt does not contain water of crystallisatic

(A) WashingSoda B) Gyp i (©  Blue Vitriol
(D) Baking Soda ~ () Question notattempted
; Frerfiea § & for e 3§ freecero % s e S 2 i
l ) iy = ‘ ® fowm , o rem fafze
| O IS ® el T
% vas 27 ' | P.T.0.
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137. Which of the following area of Rajasthan is/are bene

Bflﬂﬁﬁﬁ - '
24) ch £ ISRO (Indian Space Research Organisation) is :
/’Iie name of the present (August, 20 4) chairman o ( P =0 e

fited with water from Indira Gandhi Canal?
(@  Churu (b)  Jaisalmer € Jodhpur () Ajmer

Choose the most appropriate answer from the options given below :

(A)  (a)and (c) only . (B) (a),(b)and (c)only

© (a),(c)and (d) only (D) (b)and (c)only

(E)  Questionnot attempted
Wﬁiﬁ’ﬁmﬁﬁmm&mmﬁwﬁmﬁmwwm%? : v@/

@ T _ © SR )P_,/ETSS/ S
3 fiu o el § § waifien SO w gﬁ

by F (a) ¥R () ) a (), (b) )
o @, 0 R @ O ) O

=

®) DrS. Somnath

() Dr.K Kasturirangan
() DrK Radhakrishnan (E)  Question notattempted . .
M(Wmﬁammwﬁvaﬁnﬁ(m 2024) AL g
@A) g . R \@/gr@zﬁwa | © =% faE
©) L. TEPIH ST T |

9. Choose the most appropnate option to ﬁllm the blank. g

ing up.

After months of recession the economy_ 5 pickingup. /ﬁ o

Aa) is

) were
Choose the most appropriate reported form of the sentence given :

“Where will you be tomorrow”, I said “in case I have to meet you?”

(A)  Isaid to him where he will be next day in case [ have to meet him.

(B) Ienquired about his whereaboutsthe next day in casel would have to meet up
( I asked where you will be next day in case I will meet him.

,(B)/ I asked where he would be the next day in case I had to meet h1m

Question not attempted ‘
1. Given below are two statements: '
Statement (I) : Balathal is an important archaeological chalcolithic site in Rajasthan.

Statement (II): It wasexcavated by V.N. Misra. Its contact with the Harappan Civilization is attested from thl

house construction.
In the light of the above statements, choose the most appropnate answer from the options given below

(A) Statement () is true but Statement (11) is false.
(B) Statement (I) is false but Statement (II) is true.
(© BothStatement (I) and Statement (II) are true.
(D) Both Statement (I) and Statement (II) are false.

Question not attempted
aﬁ%a’rwﬁqw%
HA(I) : mmmwww@www%n
HIA () : waﬁ@aa%mﬁmﬁaﬁ%mmam@amﬁaﬁqzﬁﬁwﬁmm%
imm%anmﬁﬁmﬁf@aﬁmﬁﬁmmwgﬁ ._ po i
A) T () T Y, Bieg A (1) SRR | i)
(B) W(I)W%WW(H)W%I

i

O F (1) 3R (1) S T ¥
D) % (1) 3R (1) I STHA |
() TR T

e |



VNhich State is NOT a part of the “Delhi-Mumbai Industrial Corridor Project’ ?
" (A) Punjab (B)  Rajasthan ‘ ©  Gujarat
(D)  Maharashtra ® Queshoh hot attempted

v s oo ﬁwﬁ—gmﬁaﬁﬁhﬁmnﬁmﬂwﬁﬁw m‘mﬂﬁ%’

v(f’ﬂ/‘isﬂa \ ()

© TE

O) g ®

?/ Dhol dance is associated with which area of I{ajasthan ?

: (A) Jalore |  (® Pratapgarh ©  Sikar
(D) Jaipur (E) ' Question hotattempted | | '
BT T 1 Ty Tora™ % forg A2 .
() iR ®) ©
D) AR : E)

(/44/ Where is the ‘Institute of Leadership Development’ logated in the state of Ra]asthan ?

(A)  Jaipur (B)  Jodhpur (C) Udalpur
(D) MountAbu (B)  Question notattempted

T T ¥ ' Eeye Sl ciletiem Seerie’ el R e 2 | _ ,
(4) IR ® SR o wEw

D) WY B  STTARA T

(/54 certain language ‘SNIP’ is coded as ‘@59#’ and KITE’
same code ? :

ds coded as ’$9%!’. How will “PINK’ be coded in the

foet war H ‘SNIP’ Y ‘@594 H ST ‘KITE’ =i '$9%r2§f’3ﬁ€ fran < ©1 39 S H PINK o1 $ i e
(a) 92#% ' (B) $19# P - ©  ss85! \é
| M#95$ (E) Question not attempted / STIARA = (\2 /g/ 2 %

%oy 29 )5?5



/’\
\246. Given two st

Cond WO atements to be true, even if they seem to be at variance from
onclusions and decide which of the given conclusions logically true from th

S - .
tatemet“ : Some hands are eyes. No eye is leg. All legs arc hairs.
Conclusions :

@  No hand is a hair.

()  Someeyes are hairs.

In the light of the above statements, choose the mostappropriate ans
(A)  1fboth (1) and (IT) conclusion follow (B ““If neither () n0
©  Ifonly (I) conclusion follows
()  Question notattempted

A v g o A A e R TR,
ﬁ@ﬁﬁmmwﬁﬁﬁqmﬁrﬁﬁaw@%
HO : Wﬂﬂﬁlﬁ%laﬁﬁmmﬁ%'
forend
@ Y, A T T
@ F9 E T g A )
mm%mﬁﬁmﬁf@ﬁmﬁ_ﬁﬁmmwﬁﬁ :
@) af 2 (1) & () PR wEE .

af et (1) Frowd W& & @) % (1)

SaRd T
7. Inwhich year was Rajasthan Atomic Power Staﬁo_f_gg__g%mmissioned ?
mmwmﬁmaﬁﬁm(m)mw an?

commonl
egiven statem

wer from the options given
r (IT) conclusion follows

‘Ifonly (1) conclusion follows

®) aﬁq?ﬁ-a)aﬁtq(mﬁr@ﬁuﬁ%’r

ents.

A) 1978 1980 == © 1963
gD)) 1973 V(GI;))/QueE*— n not attempted/ STARA T
18, “ugdiis’ o wfy-faesT A- |
) TSI ®) 3 © o
O) TS € @I |
149. National Remote Sensing Centre (NRSC) is locateaa% ? :

() Hyderabad (B) - Sriharikota (© Ahmedabad

(D) Bengaluru (E) Questionnot attempted

i g WA R (T ST T ) e (e R

(a) R ‘ B) et © IR

ok ) SEARE T

150. Which of the following is not a type of spreadsheetprogram ?
(A) Google sheets (B) Rosé symphony

(C)  ZohoSheet D)
Question not attempted

-000-

S vo3 | 20

y known facts. Read the

below.




